N of reco track vs dxy

.. tracks

ot

prmy

N of associated (recoToSim) tracks vs dxy

Jrue tracks

10

fake tracks
S

[N
o
w

10?

10

N of associated (recoToSim) looper tracks vs dxy

duplicate tracks
=

Boatardinibards nlr

|imkﬁgﬂévvdt

FlINewTE

ssssgas%gélﬂ

EATAYRTERTAY!

N of

10

05 =50-15-10 =5 0 5 10 15 20 2

reco track vs dz

track dxy (cm)

5

#Hfﬂﬂpw ‘

-10

O 10 20 30

track dz (cm)

0.

—-25-20-15-10-5 0 5 10 15 20 25

track dxy (cm)

[N of associated (recoToSim) tracks vs dz_]

trye tracks

=
o
S

10

20
track dz (cm)

-10 0 10 30

5 10 15 20 2

fake tracks

10

0995 =50-15-10

track dxy (cm)

]

-10

O 10 20 3
track dz (cm)

-25-20-15-10-5 0 5 10 15 20 25

track dxy (cm)

[[Nofas

sociated (recoToSim) looper tracks vs dz |

=
o
S

duplicate tracks

10

..... P | - -+

-10 0 10 20 30
track dz (cm)



	Contents
	Page 1


